WM

f5e BT FE AL
NEP Series Premium- Efficiency Three-phase Induction Motors

ANHUI WANNAN ELECTRIC MACHINE CO., LTD

Performance Data

Frame size: 140 ~ 440
Voltage: 230V/460V, 575V

Service factor: 1.15

Efficiency levels: NEMA Premium

Poles: 2,4,6

Rated power: 1 to 250HP
Frequency: 60Hz
Insulation class: F
Enclosure: TEFC

Degree of protection: IP55

Applications: Typical applications include operations where continuous or frequent

duty is required. Constant torque operation is 10:1, Variable torque operation is from

zero to base speed. Premium-efficiency motors are designed to conserve energy

over extended time period. Class F insulated, 1.15 service factor.

Features: Low-lose electrical grade lamination steel. Cast iron frames, IP55

protection, double lip seal keeps moisture and contamination. Over size bearing,

spike resistant magnet wire, conduit box fully gasket and ground lug in conduit box.

Stainless steel nameplate. C&D face kits available.

Eul Current at 460V Torque Efficiency Power Factor

Type OﬁpP”t Frame| Conn. |Code| load Full [Locked| Full |Locked|Break| Full | 3/4 | 1/2 | Full | 3/4 | 1/2
r/min Idle load rotor load rotor |down | load | load | load | load | load | load

(A) (A) |(LB-FT)| % % % % % | % | % %
NEP143T2-2| 1 [143T | 2Y/Y | K | 3495 | 0.74 1.5 9.6 150 | 220 | 265 [77.0|81.08|78.29| 82 |74.75|62.34
NEP143T3-2 (1.5 143T | 2Y/Y | K | 3490 | 0.87 | 2.0 13.8 | 2.26 | 215 | 250 [84.0|84.34|83.46| 84 |79.20(68.59
NEP145T-2 | 2 |145T | 2Y/Y | J | 3485 090 | 2.6 18.7 | 3.01 210 | 240 |85.5|86.16|85.91| 85 |83.61|74.69
NEP143T2-4| 1 [143T | 2Y/Y | K | 1745 | 1.10 1.6 11.0 | 3.01 280 | 300 |85.5|84.84|81.54| 70 |61.33|48.58
NEP145T1-4 [ 1.5 145T | 2Y/Y | K | 1735 | 1.32 | 22 14.1 454 | 250 | 280 |86.5|86.93(82.77| 74 |66.41|53.42
NEP145T2-4 | 2 [ 145T | 2Y/Y | J 1730 | 1.72 29 18.0 | 6.07 | 245 | 270 [86.5|86.88|82.63| 75 |67.63|54.57
NEP145T-6 | 1 |145T | 2Y/Y | J 1155 | 1.30 1.7 9.8 455 | 260 | 280 [82.5|81.96|77.97| 65 |55.57|42.55
NEP182T-2 | 3 |182T| 2Y/Y | J [ 3530 | 1.26 3.7 298 | 446 | 200 | 230 |86.5|86.26(83.85| 87 |84.69| 77.0
NEP184T-2 | 5 |184T| 2Y/Y | H | 3520 | 1.56 | 6.0 451 7.46 180 | 215 |88.5|88.75|87.64| 88 [85.51|78.01
NEP182T-4 | 3 |182T | 2Y/Y | J 1760 | 1.41 3.6 27.0 | 895 | 215 | 250 | 89.5|90.06|88.51| 86 |81.77|71.87
NEP184T-4 | 5 |184T | 2Y/Y | H | 1755 | 2.11 6.1 40.2 | 1496 | 185 | 225 [89.5|90.45|90.05| 86 |83.93|75.48
NEP182T-6 | 1.5]|182T| 2Y/Y | H | 1180 | 153 | 2.3 13.3 | 6.68 190 | 250 |87.5|86.77|84.20[ 70 [61.28]48.19
NEP184T-6 | 2 | 184T | 2Y/Y | J 1180 | 1.98 3.0 18.1 8.90 180 | 240 |88.5| 88.0 |85.52 70 [60.84|47.80
NEP213T-2 | 7.5 | 213T [2A/A| H | 3535 2.18 | 8.8 59.5 | 11.14 | 250 | 290 (89.5|90.02(88.85| 89 |89.52(84.33
NEP215T-2 | 10 | 215T [2A/A| G | 3530 | 258 | 11.7 | 76.5 | 14.88 | 240 | 280 [90.2 {90.79(89.57| 89 |87.69|84.29
NEP213T-4 | 7.5 213T [2A/A| G | 1765 | 3.35 9.0 56.9 | 22.32 | 250 | 280 [91.792.23|90.94| 85 |82.41|73.63
NEP215T-4 | 10 | 215T [2A/A| G | 1765 | 4.18 | 12.0 | 77.9 | 29.76 | 240 | 200 [91.7 [92.27|91.13| 85 (82.09(72.98
NEP213T-6 | 3 |213T | 2Y/Y | J 1185 | 2.35 | 4.2 284 | 13.30 | 185 | 230 (89.5|89.35|87.78| 74 |66.83|55.17
NEP215T-6 | 5 |215T| 2Y/Y | H | 1180 | 3.41 7.1 421 | 2226 | 170 | 215 [89.5|89.20|88.31| 74 |68.4 |57.98
NEP254T-2 | 15 | 254T [2A/A| G | 3560 | 4.23 | 17.1 110 | 2213 | 220 | 250 |91.0(90.83|89.12| 90 (90.52|85.65
NEP256T-2 | 20 | 256T [2A/A| F | 3555 | 4.97 | 22.9 140 | 29.55 | 220 | 250 |91.0{91.16(90.03|] 90 [89.71|85.40
NEP254T-4 | 15 | 254T [2A/A| G | 1780 | 5.04 | 17.9 104 | 44.26 | 180 | 230 |92.4(93.12(92.86| 85 |83.55|77.75




WM

ANHUI WANNAN ELECTRIC MACHINE CO., LTD

BEra BB

Eull Current at 460V Torque Efficiency Power Factor

Type Oﬁppm Frame| Conn.|Code| load Full [Locked| Full |Locked|Break| Full | 3/4 | 1/2 | Full | 3/4 | 1/2
r/min | Idle load | rotor | load | rotor [down|load | load | load |load | load | load

(A) (A) |[(LB-FT)] % % % % % | % | % %

NEP256T-4 | 20 | 256T [2A/A| G | 1780 | 6.62 | 23.7 140 | 59.02 | 160 | 200 [93.0|93.74|93.52| 85 |83.33|77.39
NEP254T-6 | 7.5 | 254T [2A/A| G | 1190 | 4.82 | 10.3 | 59.3 [ 33.10 [ 190 | 230 [91.0(91.41{90.59| 75 |70.72|60.96
NEP256T-6 | 10 | 256T [2A/A| G | 1185 | 6.94 | 13.7 | 77.3 | 44.33 | 180 | 220 [91.0|91.59(90.71| 75 |70.39|60.27
NEP284TS-2 | 25 |284TS|2A/A| F | 3560 | 7.25 | 28.4 | 161.2 | 36.89 | 180 | 220 |91.7|91.97(89.28 90 | 89.0 |84.88
NEP286TS-2 | 30 |286TS|2A/A| F | 3560 | 7.68 | 34.0 | 181.5 | 44.26 | 180 | 220 |91.7|91.72{90.07( 90 | 89.6 |85.78
NEP284T-4 | 25 | 284T [2A/A| F | 1780 | 10.33 | 29.4 | 156.8 | 73.77 | 180 | 230 | 93.6|94.01(93.49( 85 [82.08|73.42
NEP286T-4 | 30 | 286T [2A/A| F | 1780 | 11.24 | 35.3 | 178.4 | 88.53 | 175 | 220 | 93.6 |94.31|94.22| 85 [82.72|75.73
NEP284T-6 | 15 | 284T [2A/A| G | 1185 | 8.27 | 189 [ 103.5 [ 66.49 [ 170 | 200 [91.7|91.91(90.92 81 |76.06|65.29
NEP286T-6 | 20 | 286T |2A/A| F 1185 | 10.39 | 25.2 | 132.2 | 88.65 | 170 | 200 |91.7 |92.06|91.31] 81 [77.09| 67.1
NEP324TS-2 | 40 |324TS|2A/A| F | 3560 | 8.59 | 45.0 | 281.2 | 59.02 [ 200 | 225 |92.4|92.62({91.55( 90 |89.69|86.33
NEP326TS-2 | 50 |326TS|2A/A| F | 3560 | 10.65 | 55.9 | 355.7 | 73.77 | 200 | 225 |93.0(93.33(92.88 90 [89.35|85.71
NEP324T-4 | 40 | 324T [2A/A| F | 1775 | 11.78 | 45.2 | 279.6 [ 118.37| 195 | 235 | 94.1|94.81|94.76| 88 [86.37|81.45
NEP326T-4 | 50 | 326T [2A/A| F | 1775 | 1419 | 56.3 | 355.4 [147.96| 195 | 235 |94.5|95.17|95.18| 88 [86.78|82.15
NEP324T-6 | 25 | 324T [2A/A| F | 1175 | 8.47 | 30.7 | 167.5 [111.76 | 175 | 220 | 93.0|93.59(93.82 82 [81.18|75.75
NEP326T-6 | 30 | 326T [2A/A| E | 1175 | 9.96 | 36.8 | 195.9 [134.11| 170 | 210 | 93.0|94.17|94.59| 82 [81.15|75.98
NEP364TS-2 | 60 |364TS|2A/A| F | 3575 | 11.55| 66.0 [ 398.5 | 88.16 [ 160 | 205 |93.6|93.79(93.07( 91 [90.59|88.21
NEP365TS-2 | 75 [365TS|2A/A| F | 3575 | 13.10 | 82.4 | 482.5 [110.20| 160 | 205 | 93.6|93.84(93.44 91 |90.95|89.87
NEP364T-4 | 60 | 364T [2A/A| G | 1785 | 18.02 | 68.0 | 427.5 [176.56| 175 | 210 |95.0| 95.4 |95.08| 87 |86.11|80.73
NEP365T-4 | 75 | 365T [2A/A| G | 1785 | 21.84 | 84.6 | 497.6 [220.70 170 | 200 | 95.4|96.01({95.91| 87 |86.26|81.96
NEP364T-6 | 40 | 364T [2A/A| F | 1190 | 14.67 | 48.5 | 247.1 (176.56| 150 | 200 | 94.1|94.94|94.35 82 [81.74|75.22
NEP365T-6 | 50 | 365T [2A/A| G | 1190 | 16.92 | 60.7 | 298.7 [220.70| 150 | 200 |94.1|94.83|94.28| 82 |80.48|75.03
NEP405TS-2 | 100 [405TS|2A/A| F | 3575 | 22.4 | 109.3 | 667 |[146.93( 180 | 250 | 94.1|94.17({94.01 91 [92.74|90.20
NEP405T-4 | 100 | 405T [2A/A| F | 1785 | 33.0 | 1128 | 674 ([294.27| 180 | 250 |95.4|94.81|94.39| 87 [86.20|79.69
NEP404-6 | 60 [404T |2A/A| F 1190 | 21.6 | 69.1 406 |264.84| 190 | 240 [94.5|94.43|94.09| 86 [84.95| 78.0
NEP405T-6 | 75 | 405T [2A/A| G | 1190 | 25.8 | 86.4 531 |331.05| 190 | 230 | 94.5(94.69(94.32| 86 |85.15|78.46
NEP444TS-2 | 125 |[444TS| A F |3580 ] 241 | 1354 | 810 |183.40| 165 | 230 [95.0(95.01|94.00] 91 [92.01/89.01
NEP445TS-2 | 150 |[445TS| A F [3580 | 358 | 162.5| 980 |220.08| 160 | 230 |95.0(95.05|93.80| 91 [92.08/89.38
NEP447TS-2 | 200 |[447TS| A F ]3580 | 36.0 | 213.4 | 1284 |293.44| 170 | 220 |95.495.12|93.81| 92 |92.34|90.54
NEP449TS-2 | 250 |[449TS| A F 13580 | 33,5 | 265.6 | 1550 |366.80| 185 | 220 |95.8 |95.41|94.30| 92 |92.41(91.03
NEP444T-4 | 125 444T | 2-A F [ 1790 | 329 | 139.4 | 828 |366.80| 180 | 240 [95.4 |95.03|94.67| 88 [89.50(85.07
NEP445T-4 | 150 | 445T | 2-A F [ 1790 | 36.4 | 166.6 | 982 |440.16]| 170 | 240 [95.8 |95.28|94.94| 88 [90.34|86.60
NEP447T-4 | 200 | 447T | 2-A F [ 1790 | 421 | 221.2 | 1325 |586.89| 185 | 240 [96.2 |95.59|95.23| 88 [90.47|86.70
NEP449T-4 250 ]|449T| 2-A F [ 1790 | 46.6 | 276.5 | 1667 |733.61| 185 | 230 [96.2 |95.82|95.49]| 88 [91.13|88.01
NEP444T-6 | 100 | 444T [ 2-A F 1190 | 36.5 | 114.6 | 691 |441.40| 180 | 230 [95.0 |94.77|94.28| 86 (83.25|75.54
NEP445T-6 | 125]445T| 2-A F 1190 | 40.4 | 143.3 | 852 |551.75]| 180 | 230 [95.0 |95.02|94.57| 86 (84.28|77.29
NEP447T-6 | 150 | 447T | 2-A F 1190 | 42.5 | 170.5 | 1041 |662.10| 170 | 230 [95.8 |95.28|94.78| 86 (85.25|78.75
NEP449T-6 |200|449T| 2-A F 1190 | 50.8 | 227.3 | 1376 |882.80| 170 | 220 |95.8 |95.49|95.06| 86 (86.06/80.34

NOTE: For current at 230V, multiple above values by 2.




WAM

HE Fa FE 4L

Dimensions inch

FOOT MOUNTING DIMENSION

ANHUI WANNAN ELECTRIC MACHINE CO., LTD

lt
" L\_w‘ & L g s " 'J%—‘J:L +
== Lt ¥
FalE Hig | s
I | .'In' i ™ 1 1
E J Ehf—
s ———ttd I = —s-1}
T B ?‘_ = [T Bk
—5 o T a ST i
g i @
SHAFT
Frame MOUNTING A|lB|C|D|G]|]J|O|P R S T | AB | AC |AA| EXTENSION BEARINGS
2E [2F1|2F2| H | BA NW| U |V DN NDE
1437 |5.5[4.0| — |0.34|2.256.8| 6.0 [13.5| 3.5 |0.512|1.45| 7.3 | 7.2 [0.771[0.188] 0 | 6.7 | 5 |3/4| 2.25 |0.875] 2.0 [6205-2RS[6205-2RS
145T |5.5[4.0| 5.0 [0.34[2.25(7.0| 6.8 [ 14.5]| 3.5 | 0.51 |1.45| 7.3 | 7.2 |0.771[0.188] 0 | 6.7 | 5 |3/4| 2.25 |0.875] 2.0 [6205-2RS[6205-2RS
182T |7.5(45| — |o41|2.75| 9 | 7.7 [16.2]| 45 | 0.6 |1.77] 9.1 |9.370.986[0.250| 1.58 | 7.8 | 6.1 | 3/4 | 2.75 [ 1.125| 2.5 [6206-2RS[6206-2RS
184T |7.5(4.5|55 0.41|2.75| 9 | 87 [17.1| 45| 0.6 |1.77] 9.1 |9.370.986[0.250| 1.58 | 7.8 | 6.1 | 3/4 | 2.75 [ 1.125| 2.5 [6206-2RS[6206-2RS
213T |85|55| — [0.41]3.5]|105[ 7.1 | 18 |5.25]|0.71|1.97[10.9]10.9]1.201|0.312] 1.97 | 10 |7.09| 1 | 3.38 |1.3753.12|6208-2RS|6208-2RS
215T |8.5|5.5|7.0 [0.41]3.5|10.5] 85 | 20 |5.25|0.71|1.97[10.9]10.9]1.201|0.312] 1.97 | 10 |7.09| 1 | 3.38 |1.3753.12|6208-2RS|6208-2RS
2547 | 10 |8.25| — [0.53]4.25/12.5( 10.1[23.55|6.25 | 0.83 |2.56| 13 |13.2]|1.416(0.375| 2.35 | 11 | 8.6 [1-1/4] 4.0 [1.625]|3.75| 6300 | 6309
256T | 10 |8.2510.0[0.53)4.2512.5[12.76| 25.2 | 6.25 | 0.83 |2.56| 13 |13.6|1.416(0.375| 2.35 | 11 | 8.6 [1-1/4] 4.0 [1.625]|3.75| 6300 | 6309
2847 | 11 |9.5| — [o53j4.75|14.0[12.3| 26.6| 7 |0.94 |2.76[14.6]|15.1|1.591| 0.5 | 2.35 [ 14.2| 10 [1-1/2] 4.62 [1.875|4.38] 6311 6311
2847 | 11 [9.5| — |os3l4.7514.0[12.3[25.2| 7 |0.94|2.76|14.6|15.1|1.416[0.375| 2.35 | 14.2| 10 |1-1/2| 3.25 |[1.625| 3 | 6311 6311
286T | 11 |9.5|11.0[0.53]4.75|14.0{12.3| 28.1| 7 |0.94 |2.76[14.6]|15.1|1.591| 0.5 | 2.35 [ 14.2| 10 [1-1/2 4.62 [1.875|4.38] 6311 6311
286TS | 11 [9.5[11.0]o.53)4.7514.0]13.8[26.7| 7 |0.94|2.76|14.6|15.1|1.416[0.375| 2.35 | 14.2| 10 |1-1/2| 3.25 |1.625| 3 | 6311 6311
324T [12.5]10.5| — [o.66|5.25/16.0 14.8| 31.7| 8 |0.98 [2.76|16.4|16.7|1.845| 0.5 | 2.5 | 15 [10.9| 2 | 525 |2.125[ 5 | 6312 | 6312
32478 [12.5[10.5| — |o.66(5.25[16.0] 14.8(30.2| 8 |0.98|2.76|16.4|16.7[1.591| 0.5 | 25 | 15 [10.9]| 2 | 3.75 |1.875| 35| 6312 | 6312
326T [12.5/10.5/12.0(0.66[5.25/16.0| 16.3| 33.3| 8 |0.98 [2.76|16.4|16.7|1.845| 0.5 | 2.5 | 15 [10.9| 2 | 525 |2.125( 5 | 6312 | 6312
326TS [12.5[10.5{12.0|0.66[5.25[16.0] 16.3 [ 31.7| 8 |0.98|2.76|16.4|16.7[1.5901| 0.5 | 2.5 | 15 [109]| 2 | 3.75 |1.875| 35| 6312 | 6312
364T | 14 |[11.2] — |oes|5.88|17.1| 15 |33.7| 9 |0.94 [3.11|18.31|18.1|2.021|0.625| 2.5 | 17.5 [12.85| 3 | 5.88 | 2.375[5.62| 6314 | 6314
364TS | 14 [11.2| — |o.6e|5.88[17.0] 15 [31.5| 9 |0.94|3.11]18.31[18.1[1.591| 0.5 | 2.5 | 17.5 [12.85| 3 | 3.75 |1.875| 35| 6314 | 6314
365T | 14 |11.2|12.2|066[5.88|17.1| 17.4| 37.1| 9 |0.94 [3.11|18.31| 18.1|2.021|0.625| 2.5 | 17.5 [12.85| 3 | 5.88 |2.375(5.62| 6314 | 6314
365TS | 14 [11.2[12.2]o.66(5.88[17.0] 16.2[34.65| 9 |0.94|3.11]18.31[18.1[1.591| 0.5 | 2.5 | 17.5 [12.85| 3 | 3.75 |1.875| 35| 6314 | 6314
4047 | 16 |12.2| — [o81)6.62| 20 [ 19 | 39 | 10 | 1.18|3.15[20.12|20.3| 2.45 [ 0.75| 2.5 | 18.8 |12.2| 3 | 7.25 [2.875] 7 | 6316 | 6316
4047s | 16 [12.2| — os1[6.62{ 20 | 19 |36.5| 10 [ 1.18[3.15|20.12[20.3[1.845| 0.5 [ 2.5 | 18.8 [12.2| 3 | 425 |2.125| 4 | 6316 | 6316
405T | 16 |12.2[13.7[0.81/6.62| 20 [ 19 | 39 | 10 | 1.18|3.15[20.12|20.3| 2.45 [0.75| 2.5 | 18.8 |122| 3 | 7.25 [2.875] 7 | 6316 | 6316
405Ts | 16 [12.2(13.7|081[6.62[ 20 | 19 |36.5| 10 [ 1.18 [3.15|20.12[20.3[1.845| 0.5 | 2.5 | 18.8 [12.2| 3 | 425 |2.125| 4 | 6316 | 6316
4447 | 18 |14.5| — [o81]7.5| 22| 20 [45.1] 11 | 1.38 |3.46[22.5]|23.1| 2.88 [0.875| 3.7 | 19.7 |14.76| 3 | 8.5 [3.375|8.25| NU318 | 6318
44475 [ 18 [14.5) — |os1|[7.5( 22| 20 |41.4| 11 [ 1.38[3.46|22.5(23.1 2.021]0.625| 3.7 | 19.7 [14.76| 3 | 475 |2.375| 45| 6316 | 6316
445T | 18 |14.5(16.5[0.81)7.5| 22 [ 20 [45.1| 11 | 1.38 |3.46(22.5]|23.1| 2.88 [0.875| 3.7 | 19.7 |14.76| 3 | 8.5 [3.375|8.25| NU318 | 6318
4457 | 18 [14.5(16.5|0.81 7.5 [22.0] 20 |41.4| 11 [ 1.38[3.46|22.5(23.1[2.021|0.625| 3.7 | 19.7 [14.76| 3 | 475 |2.375| 45| 6316 | 6316
4477 | 18|20 | — [o81]7.5]|22.0[ 28 |53.6| 11 | 1.38|3.46[22.5]|23.1] 2.88 |0.875| 3.7 | 19.7 |14.76| 3 | 8.5 [3.375|8.25| NU320 | 6320
44775 [ 18 |20 | — os1|7.5[22.0] 28 | 50 | 11 [ 1.38 [3.46|22.5(23.1|2.021|0.625| 3.7 | 19.7 [14.76| 3 | 475 |2.375| 45| 6316 | 6316
4497 | 18|20 | 25 [0.81]7.5|22.0[ 28 |53.6| 11 | 1.38 |3.46(22.5]|23.1| 2.88 [0.875| 3.7 | 19.7 |14.76| 3 | 8.5 [3.375|8.25| NU320 | 6320
4497s [ 18 [ 20 | 25 |os1|7.5[22.0] 28 | 50 | 11 [1.38[3.46|22.5(23.1[2.021|0.625| 3.7 | 19.7 [14.76| 3 | 475 |2.375| 45| 6316 | 6316




G290 €0'¢ 1202 osv | siec ¥6'0 LL-8/S 8 00'81 gzo | szo G/ 00094 000} OSL6VY OSLLYY
G/80 16'9 88'C GZ'8 gle€ ¥6'0 LL-8/G 8 00'81 gzo | szo G/ 00094 000'4 D16vv 0Lty
G290 €0°C 1202 osv | sie2 ¥6°0 LL-8/S 8 00'81 Gz0 | szo G/ 00091 00071 OS1Shy OSLvy
G/8°0 16'9 88'Z gz'8 GlE€ ¥6°0 LL-8/S 8 00'81 Gz0 | szo G/ 00091 00071 D1SYy Ol
0050 8.2 S8l o0v | sziz ¥6'0 LL-8/S 8 0S'Sl gzo | szo | z99 00S°Zh 000'LL DOSL1S0¥"OSLY0Y
0520 G9'S Sh'e 002 G/8¢ ¥6'0 LL-8/S 8 0S'Sl gzo | szo | z99 00524 000'LL 2150¥'0L¥0¥
00S°0 €02 16G'L 0S¢ Gl8'L ¥6°0 LL-8/S 8 00'¥L Gz0o | szo | e8¢ 00521 000°LL 0S169€0S1¥9€
G290 8Z'v 1202 29'S GlET ¥6°0 LL-8/S 8 00'¥L Gz0o | szo | e8¢ 00521 000°'LL 0169€0119¢
0050 €02 16G'1 0S'€ G/8'1 ¥6'0 LL-8/S v 00'vL gzo | szo | szs 00S°2h 000'LL 0S192€0S1¥ze
0050 16'E She'L 00'S FYARA ¥6'0 LL-8/S v 00'vL gzo | szo | szs 0052} 000'LL 0192€'01¥2€
GIE0 16'L 9L¥L 00'€ GzZ9'L G0 eL-z/L v YA 6z0o | szo | szv | oosol 000'6 0S1982'0S1¥82
00S°0 8Z'¢ 16G'L g8e'y | 6.8 S0 eL-z/L v YA Gz0o | szo | szv | oo0soL 000'6 01982'01¥82
GIE0 16'C 9Lyl RS Gz9'L 5.0 eL-z/l v ol gzo | szo | szv 00S'8 sz 0195201752
ZLE0 \e Loz'L AR GlE1 SL°0 eL-z/l v 6 gzo | szo | sze 005’8 sz 2161201€LZ
0520 8Ll 9860 292 gzL'L SL°0 eL-z/L v 6 z1o | szo | sz 0058 sz'L 21¥81°01281
8810 Ll ) AR G/80 950 91-8/€ v 059 z1o | 910 | szz 00S'v G/8'S 21GYL DLlEVL
JIOHHO JIOHHO as ag
S s3 Y HY n i N3OS SEANNN I 09 » ve WY ry E\2SE
] . _ ] ]
7 _ ] ]
H | W (7] __ ] T 1'dN H_| n 1
H 1 1 1 L
L1 P = - w - i
— e = - .1f il . i
. | - [ | ~'| i - |
1 | \TE /) __\ ali |
m 24/ 8 | | _
k F = - m B i L T
1 L /]
_ [T @ - .. W u @
o 3 d ]
yaut SNOISN3INIA 9NILNNOI 32V4-0 2431

1B B 2y

dL7 "0 ANIHOVIA O14LO3T3 NVNNVM INHNY
©)




"JOJOW BUj} JO SIS JAY}Id UO Pajedo| 8g Ued Xog JINPUO) "Uolo3JIP AUe WOolj PaAIadal 89 UeD }INPUOD Jey} OS SjuaWaIoul ,06 PaeI0) 8g UBD X0g }INPUod ay] ‘9
‘uoeoyjdde aAup 389 Jo} AYjiqenns psjeubisep ,z, JoRs) ise| 8yL °G
‘yeys uWed ybiens jo yibua) si A uoisuswiq

"SISYHOUNA NOILONYLSNOD HO4 V1va 3411830 AINO 3SN
"Youl GLO'0- ‘Udul 000 0+ Y UOISUBWIP UO 80UBIB|0] €
"BYP~Gg SWel) 10} Youl L00'0 ‘Youl 000°0+ ‘GLZ~Ep| SOWEI J0f 4OUI G000"0- ‘4OU! 0000 0+ :N JSISUWIEIP Jeys Uo soueIdlo] 2
‘6P~ SWely Jo} Youl 91/}~ Youl 000+ ‘9ZE~E | SWIB JOj Youl ZE/)- ‘YOUIQQ"0+ :g UOISUSWIP UO souess|o] “| :ILON

5290 | o€ | tcoc | siv | sicc sTe 180 8 00F | 002z | 000 | S20 | SZ | 0008k | 000z | QSLevrasiivy
580 | 169 | s8sc | ogs | cice sTC 180 8 00 | 00zz | 000 | Sc0 | S | oooer | 000z alevyalivy
5290 | o€ | tcoe | szv | sige 5ee 180 8 001 | 002z | 000 | S0 | SZ | 0008 | 000z | QSLSvvrasivvy
5180 | 169 | 8sc | o098 | clce 5ee 180 8 00 | 002z | 000 | Sco0 | S | o008l | 000z alSvy lvvy
0050 | 8Lz | sv8t | sev | sare 5ee 180 8 001 | 002z | 000 | S0 | 299 | 0008 | 000z | QSLSOvrQsLyov
0520 | 95 | sve | s¢Z | <8¢ 5Te 180 8 00 | 002z | 000 | S0 |299 | 0008t | 000z d150v alvov
0050 | 0z | 1est | sze | cist 002 180 ¥ G20 | 008F | 000 | S0 |88S | 000%L | 009F | QSLS9e ASLPoE
5290 | scv | tcoc | 88S | cicc 002 180 ¥ S0 | 008F | 000 | S0 |s88S | 000kt | o009l d1G9c aLvoe
0050 | €0z | 16st | sze | <8t 002 180 ¥ G20 | 008F | 000 | S0 |S2S | 000wl | 009F | dsioceasives
0050 | t6€ | S8t | S2s | sare 002 180 ¥ 520 | 008F | 000 | S0 [S2S | 000wr | o009 dloze alvze
G€0 | 16t | 9rr | sze | szot 002 180 ¥ G20 | 00wk | 000 | Sc0 |Szv | 000hk | 052k | dsi9scasivez
0050 | 8z¢ | 1est | 2ov | <8t 002 180 ¥ S0 | 00wk | 000 | Sc0 [Szv | 000k | oSzl d198z'aLv8e
Sl€0 | 16z | 9rL | oov | szot 002 180 ¥ S0 | 00wk | 000 | S0 [SZv | 000k | oSzl d195z'alvse
Z1e0 | twe | 1oz | sce | sie STl €50 ¥ 50 00LF | 000 | S20 | g€ | 0006 | ooor dlsizaleie
0520 | 8Lt | 9860 | sz | szrt 51 €50 ¥ 50 001r | 000 | S20 | g€ | 0006 | 000r aLvel alzst
8810 | twtr | 1220 | Sgz | 580 51 €50 ¥ 50 001, | 000 | S0 |sSzz | 0006 | o000l a1svl alevl
s s3 N HY n 0020 | mawos | Z10H3C | 38 &7 og | S5 | va| v ry INVH
<> 108t-1081
7 ] 7
W 7 3
H W 7 ] W 7 | 1] aa
e h R i i N _.r.nujlw\aﬂ
% 1] = - N T - h
== “ = “__ = _ - i
sy =2 " =
L =
—i & —V i — [+ 4 F
W] o = | ® ", i W
W TR _ 5 _
3 3 i
youl SNOISN3INIA ONILNNON 32V4-a 2431

dL7 "0 ANIHOVIA O14LO3T3 NVNNVM INHNY

1B B 2y

®



	TEFC C-FACE MOUNTING DIMENSIONS                                                    inch
	TEFC D-FACE MOUNTING DIMENSIONS                                      inch



